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E>Cnt.

o

==
e nf

B»S.Cnt. 3,4

B> R. Cnt.

B> Cnt. 2

B> Cnt. 3

B> Fl. Hn.

E>S. Hn.

E>Hn. 1

EbHn. 2

By Bar. 1

B> Bar. 2

£r

flz. straight mute

B> Tbn. 1

flz., straight mute

nf

B> Tbn. 2

G 113

nf

Bs. Tbn.

B Euph. 1

B Euph. 2

E> Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3 E@

THE TURING TEST - 22

p—



E>Cnt.

nf
=2 7 e
B S.Ont 1, 2| [ ==
5
p—nf
e
B>S.Cnt.3,4 ==
L 1
p—nf
e e 2 e —
B> R. Cnt. S EE E======—t:
——— g
p—nf
mh \ N
B> Cnt. 2
nf -
) ey y N
B> Cnt. 3 %
nf }
ks
) bey, N A
B Fl. Hn. %
i = <
) nf ———mp
e _ _
£y 5 > U
E»S. Hn. 3 E =
f E——
flz. e —~
i %
o ? i 4 " %mﬁ
nf
—
E> Hn. 2
L ——
g £
B’ Bar. 1
. mf ————mp

B> Bar. 2 %

pn 1 [Ae=EEEEEE

open

3 —w so
4 . .
B> Ton. 2 =c====== S ==
* P —_—
Bs. Tbn. =
B> Euph. 1
P mp
)
B Euph. 2
2 p -
) - -
E B
> Bs. @
P
5 - -
B> Bs.
5 % 7
P
Timp.
P
sim.
Perc. 1
nfsec » nf mp
Perc. 2
5 P - - - b =
Perc. 3 EE==!
[z = 3 = —frrr
5 v

THE TURING TEST - 23

E>Cnt.

B> S. Cnt. 1, 2[| ==

B>S.Cnt. 3, 4

B> R. Cnt.

apen >,;
B> Cnt. 2 === Zn
T S
p——nf D ——1A
open 7
B Cnt 3 = =
p——nf p——
— = o
[dad ki
e of e
— = e
betebe -
ES. Hn. =55 % SEE 3
g o
Kﬂ{.
e at
> Hn. 1
o7
PP of
8 — =
B S e
PP of
ke pate . ==
85 Bar. 1 SEESEs==
=
p——nf mp——| f
e
B Bar.2 === ==
* [ =—_
p—nf mp————  f
- I 1z
8> Tbn. 1 @ = = 5
——— — = : ﬁu
apen : b
B> Tbn. 2 : =
Y —— —_ 1= =i EJ s
—| P
1z open
Bs. Thn. B2 =
A = i
4 S
o
—
B> Euph. 1 % == S = =
4 > —
f o —
—
B> Euph. 2
=
a
E5Bs
S =
S
—
B> Bs. @ ==
S
Timp. =
=
S see
Perc. 1
ofosec
Perc.2 e+
—=F mp——| f
Perc. 3 & ,ﬁ‘
" e p———— s

THE TURING TEST - 24



[131] Alta marcia, meno mosso (/= 108)

128 . _ 133 [135] Poco a poco accel.
b > b
& cnt : === & cnt.
S 3
o
>
B>S.Cnt. 1,2 B>S.Cnt. 1,2
B»S.Cnt.3, 4 B>S.Cnt.3,4
B R. Cnt. B R. Cnt
B Cnt. 2 B Cnt. 2
B Cnt. 3 B Cnt. 3
mp
)
B> Fl. Hn. & % B> FI. Hn.
o
DY L, e 2
E5S. Hn. ‘ ===2 E5S. Hn.
d np of P 4
PP
. ~
= D oy
= - N
B> Hn. 1 % ===, T E>Hn. 1
o mp of P »
4 ,\\\ t
B> Hn. 2 : = i = EvHn. 2
of oy —_—_————
P pp
5 ~
B Bar. 1 = B Bar 1
3 ==E=== S .
wp [
5 Py
B> Bar. 2 == B> Bar. 2
3 == iy E] 3
open mp <f/ .
5 N =
B> Ton. 1 === 2 : : \’ﬁa == T B> Ton. 1
= — | # 2 "y ——— —_—  |w
open ——
B
BbTbn. 2 \J% = i B Tbn. 2
————— T C
i : : — P —
open —_—f o .
% 3 i L -3
Bs. Ton. —
El = = =5 Bs. Tbn.
=z ] z = — > e ————
o —_—— p— I
5 ~ . . e
sewn G5 cr=l &= : B Euph. 1
o k4 " o
R ~ ) o 4
BEwn2 | Ei == S== == i B> Euph. 2
o np — v o
A
B Bs & = = E5 Bs.
4
B> Bs E = 3 = B> Bs
Timp. Timp.
2 -
* o
Perc. 1 Perc. 1
Perc. 2 Perc. 2
5 Z - £ 3 ! 'z

Perc. 3 @ == Perc. 3 L@

y i = ; ,,;,

mp.

THE TURING TEST - 25 THE TURING TEST - 26




138

B> Cnt. B> Cnt.
S 5
4
BaS,CnLW,ZE B,S.Cnt. 1,2
B>S.Cnt. 3, 4 B>S.Cnt.3, 4
B R. Cnt. B R. Cnt.
B>Cnt. 2 B> Cnt. 2
4
B> Cnt. 3 z B> Cnt. 3
5 —_—
B> Fl. Hn. % B> FI. Hn. == ====
2 ErS. H r
Bsmn  [# s.n [ ESE==25 = = ==
5
E>Hn. 1 @ Eb Hn. 1 2 — = == =
5
E> Hn. 2 & Eb Hn. 2 g
A -
& g1 = == = o1 e = Cep SRS e il B Do
g . - : == P J\EE; ClEEE] T & EEEE] F El G
) —
8 Bar. 2 SE SS=ssesses = Eis B Bar. 2 ====s=— 5= =
; - - = G B e MG A A== EA as
i) »
B> Tbn. 1 @ B> Tbn. 1
) L A
B> Tbn. 2 B> Tbn. 2 Z > —
< 5
Bs. Tbn. E Bs. Tbn. E=
5
B> Euph. 1 % B> Euph. 1
i
mp
B> Euph. 2 B> Euph. 2
Bt
sim. (stace,)
E) Bs =t E5 Bs.
mp
Both
sim. stace)
B> Bs. B5 Bs.
Cadil
mp
Timp. Timp.
Perc. 1 Perc. 1
sD.
pere.2 CEEFCEErEr s pere. 2
— =—===c == == ===
,
Perc. 3 E§ Perc. 3 E@
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Allegro (- = 128)

Taeriri e
2, £
B Cnt. =t B Cnt. 2
R ol clean,sraght and aggresive._
—_— = = = " z T~ bEN
B>S.Cnt. 1,2 = B>S.Cnt. 1,2 %_‘_‘
= = e S —— ot
Sol, clean, sright
y i be == %= iz - ol el B oz
Bs.cms 4 e r e Bs.Cn3 4 L
— ~ =
Sol,clean, siraight and aggresive_
sl I ; e v
B R. Cnt. B R. Cnt. = % = ======c =
il l  S———
Fasaressves Ve nf
(bellsout - cut throughty
[
B> Cnt. 2 B> Cnt. 2 -
P T:
(bellsout - cut throught)
_— — [ _—
B Cnt.3 B> Cnt. 3 === S=s==s===t= S==c=r ==
v T T } o ]
sl R
B> FI. Hn. =
B Fl. Hn.
o [e EZESSsEssS
Faggressivey
e he s
ES. Hn. B S. Hn. % %’N -
S —
Faggressively
== .
E>Hn. 1 E> Hn. 1 e
Seggressively
~—.
E>Hn. 2 EbHn. 2 > S
Faggressively >
N . . N
B Bar. 1 B Bar. 1
o it %
B Bar. 2 Bb Bar. 2
O 3
-2 o
" ol = = Py =TIz
B Ton. 1 B Ton. 1 : :
vr 1 — | nf
B Ton. 2 % : B Ton. 2 E— : : - -
&
! v — e oz mf
- e srrefe
Bs. Ton. B2 Bs. Tbn, E
ks - Soli, clean, straig) e
2 =5 = % ? === . sepeF~ bEN
B> Euph. 1 = = B> Euph. 1 %
7P S = SSS i 3 = == == o =
n
9 % = 2,
B> Euph. 2 = = B> Euph. 2 —
< = == < R
nf
E> Bs. Eb Bs. = =
© = = —
B> Bs B Bs.
K H H = =z
Timp. Timp.
Tub Bells
Perc. Perc. 1 ' =
s
Bad.
L oubl kick pedal o hard icks) Hictt -
Perc. 2 Perc. 2
=== === === === -
+KD.3
5 Yim, . >
Perc. 3 E§ Perc. 3 E@ === =
;
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N —_————  ——————_ (6+2) swight mute ____ e
B> Crt. : = B> Crt. = EEEES
s o === g
np ———————mf nf | ———p
e — s -
B>S.Cnt. 1,2 B S.Cnt. 1,2 — :
M —— |
R -
B»S.Cnt.3, 4 B»S.Cnt.3,4 : 5
ht mute: # open o
B R. Cnt. B R. Cnt
B nf | ——op
s N
B> Cnt. 2 B> Cnt. 2
i stright mute
5 b b Y Iy
B>Cnt. 3 % : : : Ei B Cnt. 3
f
5 S
BoFl.HL  [& e : B Fl. Hn.
’ = p
5 s N W
E>S. Hn. é : : =~ 7 : S Hn.
saight mute open
5 1 - o N o
E> Hn. 1 = =—=F = = = £EF = B Hn. 1
5 7 7 7 vV 7
s ey
E>Hn. 2 =E=E >
= E5Hn. 2
nf
, B - ====
B> Bar. 1 ﬁi === B Bar. 1
nf
B Bar. 2 8 Bar. 2
3
. sight mute
£r £ P —
B Ton. 1 B> Tbn. 1 — —
:
17 sright mute _
8 Ton.2 B> Ton. 2 + T
Bs. Ton. ) -
Bs. Thn
= = =3 =
-
B> Euph. 1 8> Euph. 1 @ ==
mp ——wy
; Srim Srimnta o oo rhei.n S
BEwph? |[Aemaee e B Euph. 2 : ‘ >
:
; wp ———
) szzzz=
E) Bs. Ty E5 Bs. =: =
g = = p =
N *
5 T len
B Bs Z B»Bs ﬁ
S — = = El
iy mp 2 &3
H s
®
Timp. |23 Timp. =
o
H N )
Perc. 1 Perc. 1 [ f
i i
Perc. 2 Perc. 2
; 2 A — - _— . =, Pl 3 -
Perc. 3 E§ = = == Perc. 3 E@ = 2 ==2
< == i ¥ =E5 3 f ¥ 2 =

nf Lo 5 N
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166 Sol 171 —
N Soli, " e — a et
EsCnt. = Eb Cnt. = %
S === RZACR =28 g 7o
P mf —_— s PP ——————f
. > h
e = e £ == = = e pipie P
B>S.Cnt. 1,2 == E&:EELE B>S.Cnt. 1,2 = === = 4@ 5 =
p———nf e [ [,
N — = o ————f
= e = o — . s g >4
B»S.Cnt. 3,4 = i B»S.Cnt. 3,4 %
s —= S
p—nf N — o
e e = | . : i1z K—‘m
B> R. Cnt. B> R. Cnt. % %ﬂ
/= === —= S =
p——n ‘ Vi L o ——p
iz
N s open .
B> Cnt. 2 B> Cnt. 2 %
nf p—nf mp |
e
- N open 7
B> Cnt. 3 == B> Cnt. 3 = = = e
2= = S
mf =
o p——nf
soll,
5 e R o
B> Fl. Hn. : = E&Q&—&? B> Fl. Hn.
i 5 == 7
i3 -
5 Fy 3
E>S. Hn. Z E>S. Hn.
= o
fz
E Hn. 1 3 E5 Hn. 1
T i {7
'
4
E> Hn. 2 z = E5 Hn. 2
5
B> Bar. 1 z B Bar. 1
;
)
B) Bar. 2 B) Bar. 2

B Ton. 1 2 s=-c-ccc E=ce—c=——-————-= ==F B Ton. 1

> —
E=—c==—=
B> Ton. 2 g === === = B Ton. 2
» ——
Bs. Thn. = = Bs. Tbn.

B> Euph. 1 B Euph. 1
P np
B> Euph. 2 = = B Euph. 2
- .
5 ?‘; =
E> B
75 = = E»Bs
» np
- = =
B> B:
5 Bs. G 3 2 v B> Bs
= r mp
S
Timp. S=: f Timp.
a mfsec P mp
N BD.
Perc. 1 Z Perc. 1
* mfsec P mp
sp.| rim
Perc. 2 Perc. 2
=SS =ssss
— | f—=E= o
5 P = > > be - s :
Perc. 3 == S 3 3 Perc. 3 = =
& E - = = - = = £ === == T
— A ? ] L -
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Poco meno mosso ( = 122)

S —
181
B Cnt. z
; —
B> Cnt. Al Soli _ = iz =l Eé‘iﬁ%‘ =
= ‘%\, e
R —— : ] === W
3 -
4 =
B S.Cnt. 1, 2|
S - —
B S.Cnt. 3, 4
B>S.Cnt. 3,4
B R. Cnt
B R. Cnt.
B Cnt. 2
B Cnt. 2
B> Cnt. 3 %
B Cnt. 3
B> FI. Hn. =
o oot P ——
BF.HL [ b,?% - - e ——
P - P
e _ E>S. Hn. P
N = £ ""”"_ = |
&5 St o
. it m—— of 2 »
. E5 Hn. 1
, . : .
E>Hn. 1 s S== -
P " * 4
- EbHn. 2 P P
” i B Bar. 1
. .
, = £ £
B Bar. 1 EEE==2 "
a B> Bar. 2
" .
5 . = B - -
B Bar. 2
T —_—
4 B Tbn. 1 22 = B r
4 R - - B
BTon 1 [& VI ’; reice
B Ton. 2 i H »
B Ton. 2 R B
.
Bs. Tbn. = iz =] 3 r
Bs. Tbn. E soli - o
. B Euph. 1 N
B Euph. 1 &
- B Euph. 2
BEph2  [& = = _ - -
L 2222
of o
T
E5 Bs & »
) 3
B> Bs @ —— By
o o ’ H ?
B Bs »
5 <
B Bs. % 5o
of se
Timp. poes
= = Gk _
Timp. g -+ Ed - = =
of @ = =
—
Perc. 1 .
Perc. 1 : 2 B ~ _ _ . - _ - = = = =
; ~ _ _ _ _ _
$..orTom (hot rods on rim) Perc. 2 = =
Perc. 2 fin £ Ly 2 Y 3
be
(o Ped) , = z
: b E= e EEsEs=s=—n== Pec.s B = N
. = EEES S =
Perc. 3 & = =
s ”
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E>Cnt.

B>S.Cnt. 1,2

B»S.Cnt. 3,4

B> R. Cnt.

B> Cnt. 2

B> Cnt. 3

B> FI. Hn.

55

E>S. Hn.

E>Hn. 1

E>Hn. 2

By Bar. 1

B> Bar. 2 %

B> Tbn. 1

ey

B> Tbn. 2

Bs. Tbn. =

B Euph. 1

B> Euph. 2

E> Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

s

Perc. 3 @

THE TURING TEST - 37

Soli, with atttude

B> Cnt.
5 ==
o
B>S.Cnt. 1,2
»S. Cn %
B>S.Cnt. 3,4
B R. Cnt.
B Cnt. 2
B>Cnt. 3 %
B Fl. Hn. %
Soli.withatiude -
Sy — D L
E>S. Hn. E=sps===——=="t= ={Ire
n —mmmPm™ | f oz
E5Hn. 1
Eb Hn. 2
B Bar. 1 V % =
nf —_— S
B Bar. 2 : _k
: — 7
Solo, with atiude T =
b g R = A piet e [T —
B Tbn. 1 : e z = === - - = r
w—_—| f = nf S
B Tbn. 2 =
— s
— =
Bs. Tbn.
= 7
—_ S
B5 Euph. 1 V B £
nf —_— f
_ = - -
B Euph. 2
= = == ¥ 2 ==
—_ f mp mf —_—
E»Bs o == =5 = ;
— f mp —
B Bs
T = 77 T == =
nf _ mp mf —_— S
Timp.
5D,
Perc. 1
p
Perc. 2
mp
" P P
Perc. 3 €
S p L v
nf _ S
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R Poco accel.
o 2

[200] Giocoso (- = 130)

E>Cnt. iﬁ

_ E Jalfvalve gliss._ Y5,

[P Sy S
mp 3

B>S.Cnt. 1,2

B»S.Cnt. 3,4

B> R. Cnt.
B Cnt. 2
B>Cnt. 3
)
B> FI. Hn. @
P S e e S o
E> S. Hn. Egg
%: = = —
E5 Hn. 1
7
B Hn. 2 i
s
2 : = = >ﬁ" ——
B Bar. 1 = E=E== _ -
mp nf - z
B> Bar. 2 % 3 =
= = E
e = =
B Ton. 1 =
B Ton. 2 _
f
A
Bs. Tbn. EE
— = = = > . . _
B Euph. 1 — F=——
" o ——— ;%W
: — = =
B> Euph. 2
T
MP B e —— -
; = — =i ;
E> Bt
> Bs. % — == == = i ,__,—-j
mp » B
4 E >
B Bs. = =
T o - =p,\vv% :
mp nf A h
ﬁ - Sim.
Timp.
—
mp—— uf
Perc. 1 3
—_— v w
Perc. 2
—_— — | »
= ‘e fe o J Flexatone
Perc. 3
& I 2 7 ;
" y— S f———
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202
E>Cnt.
?
so N [ —
b PRY — ~, =
B»S.Cnt. 1,2 == =E =
=Sy =7 — ——— = = H
. — oo J—
B>S.Cnt. 3,4
= = = = —
B> R. Cnt.
+ 2
B> Cnt. 2

_—

lz., harmon mute
b

B> Cnt. 3 Iz

e ——
—
BoF.H  [& %:
w» ==
E5S. Hn.
mp =
E>Hn. 1 = =E;
p
= e
E5Hn. 2 ‘ =
mp e
B Bar. 1
B Bar. 2
s o 3 L, -
B Ton. 1
B Ton. 2 = =
=
b = = L L -
Bs. Thn.
B Euph. 1
B Euph. 2
B B 2 =
»Bo i ? 7 =
N N
B B
7B © T = 7o E
Timp. =
iz 5 =
Perc. 1
 Tambourin it sticks) _ ~ _
Perc. 2 ==s====
mp Pp————mp
Vibr. (mdium had sticks - o Pd. uniil marked) R -
Perc. 3
= R 2 2 z =
mp Bab. R
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E>Cnt.

B>S.Cnt. 1,2

B»S.Cnt. 3,4

B> R. Cnt.

B> Cnt. 2

B> Cnt. 3

B> FI. Hn.

E>S. Hn.

E>Hn. 1

E>Hn. 2

By Bar. 1

B> Bar. 2 %

e

B> Tbn. 1

L —

B> Tbn. 2

Bs. Tbn. =

B Euph. 1

B> Euph. 2

E> Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3

THE TURING TEST - 41

212 S - - > >
E> Cnt.
N s
hard and precse
bee ep oo beppeee ep ee| bepeepee e
B>S.Cnt. 1,2
s
hand and precise i o o .
8. Cnt.3.4 == = & === = o= = = |
s
hard and precise_ o o . i
B R ont == & & === & o+ = = |
S
B> Cnt. 2
B> Cnt. 3 Iz
S =
e
85 Fl. Hn.
L : =c 7 :
mf ——f e ———— —_—
I [ —
E>S. Hn.
R — 3 S
- = —t— —
Eb Hn. 1
==
mf ——f ) —_—
- s -
E>Hn. 2
S — _—
= _———r— s — = = - = =
B) Bar. 1 ,% = % = = = — : : i
P —| =
sy = .
B) Bar. 2
= i i = = Ej e T
7 z b
B> Ton. 1 z . :
7
B> Tbn. 2 5 . = — : —
= = ¥ T =
2
Bs. Tbn. 2
i
B Euph. 1 z
= - 7
B Euph. 2 = 2 =
= - = = v < <
s
E5Bs
B> Bs
Timp.
Perc. 1
o
hand and precis
Perc. 2 SE=S======= SE======== E=ESs=====—==u
p — wf
\ o be £ bese o2 =4 .o - re o» -
Perc. 3 E@ 5 === = |
3 === =
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E>Cnt.

B>S.Cnt. 1,2

B»S.Cnt. 3,4

B> R. Cnt.

B> Cnt. 2

B> Cnt. 3

B> FI. Hn.

E>S. Hn.

E>Hn. 1

E>Hn. 2

By Bar. 1

B> Bar. 2

B> Tbn. 1

B> Tbn. 2

Bs. Tbn.

B Euph. 1

B> Euph. 2

E> Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3

217 =
) T
C = ] =
f
loteeee co gpl sece cecppe | beree ceriee = A . : .
=
f
S : :
= 7
f
‘f/ﬂ.
e
S
— .
f
b

<~

hard and precise

SE=s=====—=-=

= f
hard and precise
f
hard and precise
o f
[ A —— —_—
SSSL =] -
7 5
% , T ——
s = EG B 7 o S
=
= == ”—
_ - —
b3 N
==
= (==
B ==
H - = —_—

,
& 2 :
5 =~ :
TEE s oy

(articulation with Ped,)

I be - > - = » -
[E== e s =
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— 7 iz

Poco accel.

—
E>Cnt. %
i

B8>S.Cnt. 1, 2[[&
7

B>S.Cnt. 3,4

222 — -
B e e Tebe N . et B
= S — == =
i sz - - N PO , L
£ = — e
3 - L . ]
===
= £ ' ===

B> R. Cnt.

B> Cnt. 2

=

B>Cnt. 3 Iz

=

B> Fl. Hn.
- T ]
S, Hn. == SESS=¢
E5 Hn. 1 == ==S=====: ,
B> Hn. 2 E f
B> Bar. 1 —%
ar = ==
L s |
B> Bar. 2 q\_/@ gs; == =S5
B Ton. 1 %
=z
s
B> Tbn. 2 SSE=ra
£
s
Bs. Thn.
z
s

e tia )
B Euph. 1
<

B> Euph. 2

e
2

B> Bs.

Timp.

Perc. 1

" === . e
== wy % == od ;35_;
S Jﬁ " === ; ==
ren———aT T A

(open)

Perc. 2 grpeer

Perc. 3 E@

N
= b a3 N —7 It - 4 = = I
’ 7 = == v ? — 12 7
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227__

, 2 P — S Teera L et
E>Cnt. e %
& =Tr== == ===/]
——
el ebe — ISR == =g
B>S.Cnt. 1,2 =S|
—
_— . . —_ -
B,S.Cnt. 3,4 = z EE==
—
P> =
B R. Cnt. ===
= g ===
V2
B Cnt. 2 £

2 = ——
Fe—
B>Cnt. 3 @:% - = = = 3 ;I:é
B Fl. Hn. @5‘:& ﬁ' e =4 : )ﬁ; EE==1

s oot EsE=x - S abrte
E>S. Hn.
3 > E h '
(rom nothing)
—E 5 =
E>Hn. 1
~ =
% N N (rom nothing)
E>Hn. 2
~IEer
>/—\ :./\ ] ~ )
bz, ebe bete et £ >,
By Bar. 1
' R Eh = ,, :
= . ohe ) k B
B> Bar. 2 =
p % T - = v% E;_%> IEEE':
B> Thn. 1
B> Tbn. 2
Bs. Tbn.
B Euph. 1
B> Euph. 2
E>Bs.
B> Bs.
Timp.
Perc. 1
s, L
Perc. 2
ki P
=5 A \ . L

Perc. 3 @ =
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232 Lento (+ = 50)
A

Poco rall. Andante con rubato, sweetly (4 = 122)

Rall.

E>Cnt.

o

B> S. Cnt.

B»S.Cnt. 2

B»S.Cnt. 3

B»S.Cnt. 4

B> R. Cnt.

B> Cnt. 2

B>Cnt. 3 ?

Solo, tenuto

A =
B> Fl. Hn. g
S i
j2 3
A e~~~ §—
E>S. Hn. z
v i
| ’ » -
11z (start not 100 obvious)
) - ~
E>Hn. 1
Ve——
112 (start not 100 obvious)
3 | Iy
EbHn. 2
e/ A
ey open 1
A —
By Bar. 1 %
—
open
A cupmue —
B> Bar. 2 e
" —————— w
A ~
B> Ton. 1 [z
~ ~
B> Tbn. 2
A ~
Bs. Tbn. =i
p n
n ~ —5
B> Euph. 1 T 7 T
e
—t—— | g
2 = D
B> Euph. 2 =
=
rr
~
ol T
E>Bs
rp
A
B> Bs
~
Timp. B2
A
Perc. 1
T e e e playd it by Bl i
souning scrchhowi.Sule nd ot oo o
~
Perc. 2
4
P
~ Vibra, (medium hard mallets - motor on) Solo ~ALbe | e
Perc. 3 E@ EE
S = - 7 =
w:g l_-l_l —_— PR,
2
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Bright shimmering sound

[240](/=72) Rall. N («=72) 244 Molto rall. Adagio (- = 58) Rall.
N v ~ v
B Cnt. 5 5 B Cnt. :ﬁ 5
N P kg === —= nf np L
B S. Cnt. 1 Cnt. =
g == B>S.Cnt. 1 ﬁf SEES 5 5
= L _= 15 - mf
, n
B>S.Cnt. 2 == e - , )
= EBe=— B>S.Cnt.2 E T
nf
B>S.Cnt.3 @ ~ v
4 B>S.Cnt. 3
— ~—— | of
m
=l f "
B>S.Cnt. 4 = ~
» B»S. Cnt. 4 w ¥ 5
SR
z nf mp
B R. Cnt. = ~
PP B> R. Cnt.
3 F— < — ~
) ~ - mp nf
B> Cnt. 2 =
" B>Cnt. 2
B> Cnt. 3 ~
_ B> Cnt. 3
B FI. Hn. ~
B> FI. Hn.
rp O
~
4 == /:\
E>S. Hn. - 2
. Ji— E»S. Hn. &
S5 ==
£ Hn. 1 - ===l
1
2 v Ed
-~ rr
E5 Hn. 2 o 2 o
> Hn.
< o
B Bar. 1 : B Bar. 1 : z
=== ) Bar. é
—0 A
B> Bar. 2 =
> Bar == B Bar. 2 : 3
B Ton. 1 - B Ton. 1 =
> Ton.
~ ~
B Tbn. 2 B> Tbn. 2
— ~
Bs. Tbn. Bs. Tbn.
Bb Euph. 1 B Euph. 1 =
B> Euph. 2 B Euph. 2
5 ~
B Bs. E»Bs
) ~
B> Bs. @ B> Bs
~ ~
Timp, Timp.
~ —
Perc. 1 Perc. 1
—
~ ~
Perc. 2 Perc. 2
5 S £
Perc. 3 E§ E Perc. 3 E@
T — g
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[248] Adagio, with a sense of peace and sadness (- = 58)

Poco rall.
5 ’ # e > U
B> Cnt.
—
B S. Cnt. 1
B>S.Cnt. 2
B>S.Cnt.3
B>S.Cnt. 4
B> R. Cnt.
B Cnt. 2
B> Cnt. 3
B FI. Hn.
E>S. Hn.
G-
PR _ _ _ _
E> Hn. 1
v mp P mp
P, ; f ; f ; f
E5 Hn. 2
N mp. PP
A
B Bar. 1 [z
G-
.
B> Bar. 2
—
.
B> Tbn. 1 =2
i t
mp r
B> Tbn. 2 EL
v omp P
Bs. Tbn. =
mp
B) Euph. 1 = = = £ = =
N mp »
,
B Euph. 2
np E = = . »
E>Bs =
Ci—
)
B’ Bs.
=
mp
Ly
Timp.
np
I
Perc. 1
np
Perc. 2
(motor on)
Perc. 3 E§ 5
.I mp. P mp:
R
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250

[252] Poco meno mosso, con poco rubato (-

E>Cnt. éﬁ

mp

calm

fipbe

Solo, with sadness and longing
S}

smooth slide

B8>S.Cnt. 1, 2[[&

B»S.Cnt. 3,4

B> R. Cnt.

B> Cnt. 2

—_—

B> Cnt. 3

B5 FI. Hn.

50

E>S. Hn.

EbHn. 1

EbHn. 2

B> Bar. 1

B> Bar. 2

B> Tbn. 1

B> Tbn. 2

Bs. Tbn.

B Euph. 1

B Euph. 2

E>Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3 E‘f :

mp’
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256 Poco meno mosso (« = ca. 48)
: 50
Eb Cnt.
:
B»S.Cnt. 1,2 = = = = - - -
B»S.Cnt. 3,4
P
B> R. Cnt.
B>Cnt. 2
mp>7 — 3
B>Cnt. 3
———
B> Fl. Hn.
mp P mp:
E>S. Hn.
——+
EbHn. 1 :
mp P mp —————— || PP
E>Hn. 2
g —
B> Bar. 1
’ P
S ——
mp———————p mp————— p
B> Tbn. 1 E
* 14

B> Tbn. 2

Bs. Ton. EE

Solo, with sadness and longing.

. —_—
) 2o e e, P >
B Euph. 1 i
© = _—
- =

B> Euph. 2

E> Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3 @

mp——— p
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262

E>Cnt.

B8>S.Cnt. 1, 2[[&

B>S.Cnt. 3,4

B> R. Cnt.

B> Cnt. 2

temuto,

e —— ]

B> Cnt. 3

B Fl. Hn. %

E>S. Hn.

EbHn. 1

EbHn. 2

B> Bar. 1

B> Bar. 2

tenuto,

B> Tbn. 1

B> Tbn. 2

Bs. Tbn.

B Euph. 1

B> Euph. 2

E> Bs.

B> Bs.

Timp.

Perc. 1

Perc. 2

Perc. 3 L@
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